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QUESTION 1

Which two statements about FCIP Tape Acceleration are true? (Choose two.) 

A. FCIP Tape Acceleration enables time stamp control on an FCIP interface. 

B. The Cisco MDS switch proxies a transfer ready to signal the host to start receiving data. 

C. FCIP Tape Acceleration uses TCP window management and a sliding window for flow control. 

D. FCIP Tape Acceleration reduces each I/O processing time by two RTT. 

E. FCIP Tape Acceleration only supports the read acceleration. 

Correct Answer: BD 

 

QUESTION 2

What is the use of an "all configurations" backup in Cisco UCS? 

A. Can be used to migrate from a 6120 to a 6140 and retain the same service profiles 

B. Can only be used on the fabric interconnect on which it was created 

C. Can be used to migrate from a 6120 to 6140 and retain system IP addresses and cluster information 

D. Can be used to match firmware versions between 6120 and 6140 during a migration 

Correct Answer: A 

 

QUESTION 3

Nexus# 57ther igmp snooping vlan 120 IGMP Snooping information for vlan 120 IGMP snooping disabled Optimised
Multicast Flood (OMF) disabled IGMP querier none Switch-querier enabled, address 1.1.1.1, currently not running
IGMPv3 Explicit tracking enabled IGMPv2 Fast leave disabled IGMPv1/v2 Report suppression enabled IGMPv3 Report
suppression disabled Link Local Groups suppression enabled Router port detection using PIM Hellos, IGMP Queries
Number of router-ports: 0 

Number of groups: 0 

Active ports: 

Po100 Po111 

Which statement best describes what is depicted in the show command output? 

A. IGMP snooping is not active for VLAN 120 because the IGMP feature has not been enabled on the switch with the
feature igmp command. 

B. The IGMP snooping querier for VLAN 120 is not in a running state because the Loopback interface configured with
1.1.1.1/32 is currently in a down state. 
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C. IGMP snooping has been disabled on the VLAN 120 SVI. 

D. IGMP snooping has been disabled for VLAN 120 in VLAN configuration mode. 

E. IGMP snooping is not active for VLAN 120 because VLAN 120 does not exist in the VLAN database. 

Correct Answer: D 

 

QUESTION 4

DHCP snooping on Cisco Nexus 1000V Series Switches acts like a firewall between untrusted hosts and trusted DHCP
servers by doing which of these? (Choose three.) 

A. validates DHCP messages received from untrusted sources and filters out invalid response messages from DHCP
servers 

B. intercepts all ARP requests and responses on untrusted ports 

C. builds and maintains the DHCP snooping binding database, which contains information about untrusted hosts with
leased IP addresses 

D. uses the DHCP snooping binding database to validate subsequent requests from untrusted hosts 

E. limits IP traffic on an interface to only those sources that have an IP-MAC address binding table entry or static IP
source entry 

Correct Answer: ACD 

 

QUESTION 5

What does the mac packet-classify command do when applied to an interface configuration? 

A. It enables MAC ACLs to be applied to only IP packets that enter the interface. 

B. It enables MAC ACLs to be applied to only non-IP packets that enter the interface. 

C. It enables MAC ACLs to be applied to all packets that enter the interface. 

D. It enables MAC ACLs to be used for QoS settings. 

Correct Answer: C 
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